719 AR SEAA =T A SH 47 (9] ")
= o i=]
wop g 22 ‘ o ‘ s RRRE =z R 2ARANE | AR | B A
34 1,682,394 68,654,955 70,337,349
A 1,682,394 63,618,907 65,301,301
FoldxFTT S 21,553,216 55,510,377 53,957,161
QAR LLSL 24,000 83,195 79,195
WA YE R A4,000 40,720 36,720
ZAYEX =Y 24,000 40,720 36,720
1. 3 FESH R AXFX A 24,000 31,200 27,200
VA A s R e ) [ SR A~ 4,000 31,200 27,200
1) 95t A 4,000 21,000 17,000
\ 7hH %= 210—06 |3,000,0009 — <714>7,000,000¢4 = A 4,000 7,000 3,000
54T ER Y A38,165 3,820,007 3,781,842
ETRC B X A32,359 2,900,680 2,868,321
NSHAL-FR Y A12,653 1,468,286 1,455,633
1. Z2HAAGAAR Y 212,653 500,000 487,347
7F ZE Yol Aokl =€l ~12,653 500,000 487,347
1) =2HA2AE ~12,353 89,536 77,183
71 A A 210-07 |5,647,0009 — <7]1%>18,000,000¢= ~12,353 18,000 5,647
2) dlelgoA 7Y A300 200,000 199,700
7H ¥ 2] 3] 230-02 [1,200,0009 — <7]1%>1,500,0009 = A300 1,500 1,200
NEHRA LG A AMNA 219,706 1,417,502 1,397,796
1. A FA LB A19,706 1,417,022 1,397,316
7}, SHREZDEA A903 103,854 102,951
1) 5% ~903 103,854 102,951
7H A1AH] A903 95,688 94,785
(1) AAYIALE 24 420-03 |94,785,0009 — <71%>95,688,00094= ~903 95,688 94,785
U SAESE XA A18,803 445,104 426,301
1) $Ex A18,803 445,104 426,301
7h) Al An] A18,803 426,360 407,557
(1) ¢2oAx 420—-03 |81,197,0009 — <71%>100,000,000¢ = A18,803 100,000 81,197
EnS 25,806 261,962 256,156
ETIS5EY 25,806 261,962 256,156
1. EFa 5 AN 9 25,806 261,962 256,156
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7134 ARSEAA F D S A A (5] : W9
Z o )=
goivy S0 | 55| AT NEERE 2 4% AU 2AFAAE | ARANS | B A
7}, B S A A E Lo A5,806 157,160 151,354
1) EuSAQMME L7 A5,806 135,060 129,254
7hH REuSA A 75,806 100,830 95,024
(1) A AN 420-01 |3,501,0009 — <71%>5,830,0009= A2,329 5,830 3,501
(2) A1 H] 420-03 191,523,000 — <71%>95,000,000¢4 = A3,477 95,000 91,523
BAF4 21,260,817 10,683,600 9,422,783
FA 7 21,260,817 10,675,534 9,414,717
st FA A NA 21,260,817 4,254,224 2,993,407
1. St FA 7| FHUA| A 8F 21,260,817 4,254,224 2,993,407
7. FAA A o) 3) ~1,167,238 3,591,989 2,424,751
1) A A&y 779 v9F=) g-up ek A ~19,904 109,500 89,596
7H $9sdx A19,904 109,500 89,596
(1) AAn] 420-03 [89,596,0009 — <71%>109,500,000¢ = ~19,904 109,500 89,596
2) A7) 8] A A1,147,334 3,427,937 2,280,603
7hH $eq ez 76,875 216,764 139,889
(1) AAm] 420-02 |12,577,0009 — <71%>14,895,0009 = ~2,318 14,895 12,577
(2) AAH) 420-03 [122,282,0009 — <71%>195,461,0009 = AT3,179 195,461 122,282
(3) A Eun] 420-05 |30,0009 — <717%>1,408,0004 = A1,378 1,408 30
W) G849 x A117,652 397,398 279,746
(1) AAm] 420-02 |17,344,0009 — <71%>23,651,0009= 26,307 23,651 17,344
(2) A1AdH] 420-03 |254,766,0009 — <71%>366,111,000¢9= A111,345 366,111 254,766
o) ez ~21,327 92,049 70,722
(1) A AN 420-02 |09 — <71%>21,327,000¢ = ~21,327 21,327
b A= AT7,221 253,714 176,493
(1) AAM 420-02 |14,544,0009 — <71%8>16,744,0009= A2,200 16,744 14,544
(2) ANAn] 420-03 |156,949,000¢ — <71%>230,311,0009 = A73,362 230,311 156,949
(3) A A FH) 420-05 |09 — <71%>1,659,0004 = A1,659 1,659
v FAx A94,620 290,420 195,800
(1) A]dH] 420-03 [172,450,0009 — <71%4>265,160,000¢ = A92,710 265,160 172,450
(2) A Fn] 420-05 |09 — <71%>1,910,0009 = A1,910 1,910
vh) G4 F ~279,760 527,954 248,194
(1) A AN 420-02 [17,799,0009 — <71%>29,448,0009 = A11,649 29,448 17,799
W - Ol EFT NS — B — G243 - stugA A A
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18 A2 QT A
7187 ASSEAA G wSH A (5] : W9
Z o )=
goivy S0 | 55| AT NEERE 2 4% AU 2AFAAE | ARANS | B A
(2) Al 420-03 [225,395,0009 — <71%>489,978,000¢ = A264,583 489,978 225,395
(3) A F-djn] 420-05 |09 — <718>3,528,0009= 73,528 3,528
AD HFAFSx ~235,120 489,922 254,802
(1) AAH| 420-03 [249,802,0009 — <717>481,455,0009 = ~231,653 481,455 249,802
(2) A1 En] 420-05 0¥ — <71%>3,467,0009 = A3,467 3,467
oh) BAx 56,363 242,889 186,526
(1) A A x| 420-02 |09 - <71%>16,221,0009 = A16,221 16,221
(2) AAn 420-03 [181,526,0009 — <71%>220,083,000¢ = ~38,557 220,083 181,526
(3) A Et)n] 420-05 |09 — <714>1,585,0009= A1,585 1,585
2P A = 74,310 158,940 154,630
(1) A An) 420-02 [8,337,0009) — <7]%>11,629,0009 = 73,292 11,629 8,337
(2) A|A X n 420-05 |09 — <718>1,018,0009= A1,018 1,018
b G A2,046 123,686 121,640
(1) A Am] 420-02 25,728,0009 — <714>27,774,0004 = 22,046 27,774 25,728
7hH @i ~181,968 448,615 266,647
(1) AAm] 420-02 |17,694,0009 — <71%>25,842,0009 = A8,148 25,842 17,694
(2) NAH)] 420-03 |243,953,0009 — <714>414,786,0009 = ~170,833 414,786 243,953
(3) A F-tin] 420-05 |09 — <71%>2,987,0009 = ~2,987 2,987
Eh) e diakx AT2 33,199 33,127
(1) AAm] 420-02 |7.634,0009 — <7]18>7,706,000 = AT2 7,706 7,634
B AR PAR R RS Rt 793,579 124,867 31,288
) ¥Hx 620-03 |14,799,0009 — <71%>39,429,0004 = 24,630 39,429 14,799
2) 8% 620-03 |16,489,0009 — <71%>58,881,000¢ = ~42,392 58,881 16,489
3) FHa 620—-03 |09 — <7]4>26,557,0009= ~26,557 26,557
st A F X A A50,952 14,178,627 14,127,675
AV G A4 250,952 2,088,593 2,037,641
AAB AR AEA A 250,000 1,461,492 1,411,492
1. AARAZ AT RZ 250,000 1,461,492 1,411,492
7].‘ lej]j]x] .‘0(1 620—08 11,411,492,0009 — <71%>1,461,492,000¢ = A 50,000 1,461,492 1,411,492
TP AFATA 2952 627,101 626,149
1. AHE g w7 e 9n| A4 A952 319,091 318,139
7}, w2k ol A A ~952 319,091 318,139
T& - Fold xS ng - AT - A AGA A - IR AL AT Y
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7138 Al2dE 2T HWIA
S B w5 K 94 (5 : de)
AFd U < E-A5 ArEU < 227443 | 71 Aak e A

1) 158w 620-11 |318,139,0009) — <714>319,091,000¢ = A952 319,091 318,139
TAEAAN A199,282 23,908,770 23,709,488
s A A A £2199,282 23,908,770 23,709,488
g= A17,014 143,882 126,868
1. adZ== 21,380 17,542 16,162
7}, o} bR A w Al FF A = A1,380 17,542 16,162
1) A AN 420-02 |16,162,0009 — <71%>17,542,0009= 1,380 17,542 16,162
2. =3 AEEEA A15,634 126,340 110,706
b RA] 3 T A B A 15,634 126,340 110,706
1) A]An)] 420-03 |102,673,0009 — <714>118,307,00091 = 15,634 118,307 102,673
FANA ~182,268 23,764,888 23,582,620
1. AAFRSA A587,377 4,956,906 4,369,529
7}, vpek R 2= A1,019 381,920 380,901
1) A An) A1,019 381,920 380,901
71 ol % 420-03 |82,581,000¢1 — <717%>83,600,0009= A1,019 83,600 82,581
L}, wrge A185,800 1,068,623 882,823
1) A]An 185,800 1,030,030 844,230
7h =8k w (B4 420-03 |16,741,0009 — <71%4>18,615,0009 = A1,874 18,615 16,741
W) FA4 % (A 420-03 |93,939,0009 — <714>105,485,000¢ = A11,546 105,485 93,939
) FATE X (24 420-03 |10,274,0009 — <714>37,230,00091= 126,956 37,230 10,274
b A % (24 420-03 |43,453,0009 — <714>49,640,0009= £6,187 49,640 43,453
) AbsE () 420-03 |37,061,0009 — <71%>37,230,000¢ = A169 37,230 37,061
vl o] 9 % (&4) 420-03 |27,651,00090 — <714>49,640,0009= ~21,989 49,640 27,651
AD = A () 420-03 |13,677,0009 — <717>24,820,000¢ = A11,143 24,820 13,677
oh) Fest=E (=24 420-03 |46,654,00091 — <71%>49,640,0009 = £2,986 49,640 46,654
2 G (A 420-03 |108,020,000€ — <714>111,690,0009 = A3,670 111,690 108,020

b EEZ (A 420-03 |09 - <71%>99,280,0009= 299,280 99,280
o} 9 H-35 w A A172,032 1,078,355 906,323
1) A An) A172,032 1,046,355 874,323
7hH ALE(Leba) 420-03 |3,888,0009 — <7]%>52,980,000¢ = 49,092 52,980 3,888
) Jeedn 420-03 |671,760,0009 — <714>794,700,000¢ = A122,940 794,700 671,760
EIRI R AR = RE A1,372 768,160 766,788

|27 -

SN - A EEE A
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7187 AESHAA =G D SR 9% (o] A Q)
4 )

goivy S0 | 55| AT NEERE A EERE 2AFAAE | ARANS | B A

1) A1AH] A1,372 732,360 730,988

7hH $e9Edx (JH) 420-03 ]50,189,0009 — <71%>51,561,0009 = 21,372 51,561 50,189

o} wAlE] 2 A227.154 943,890 716,736

1) A A 420-02 38,235,000 — <71%>38,690,000¢ = ~455 38,690 38,235

2) A]Adn] ~226,699 900,400 673,701

7hH G sz 420-03 [67,131,0009 — <71%>112,550,0009 = A45,419 112,550 67,131

W) 52 (3HF) 420-03 |73,755,0009 — <717%>225,100,0009 = A151,345 225,100 73,755

hH Sx= 420-03 |26,340,0009 — <71%4>56,275,0009 = 229,935 56,275 26,340

2. FEAAAA 22,099 48,220 46,121

7F &5 72,099 26,770 24,671

1) A]dn) ~2,099 26,770 24,671

7hH G840 420-03 [24,671,0009 — <7]1%>26,770,0009 = A2,099 26,770 24,671

3. WA A A £38,639 1,085,480 1,046,841

7F W) 738,639 1,085,480 1,046,841

1) A AN 420-02 |27,095,0009 — <7]%>27,800,00094 = AT05 27,800 27,095

2) AAdn] ~37,934 1,051,280 1,013,346

7hH GdwEx 420-03 129,561,0009 — <71%>30,920,00094 = A 1,359 30,920 29,561

W e x=ES) 420-03 |128,171,0009 — <71%4>131,410,0008 = 73,239 131,410 128,171

th) =42 420-03 169,248,0009 — <7]1%>69,570,0004 = ~322 69,570 69,248

) eExx 420-03 |125,553,0009 — <71%4>131,410,0008 = A5,857 131,410 125,553

uh) gy 420-03 |351,613,0009 — <71%>378,770,000 = A27,157 378,770 351,613

4. FAAENA A1,199 110,000 108,801

7} AR TN A A1,199 110,000 108,801

1) A4 A1,199 110,000 108,801

7hH G F Atz (FAdn]) 420-03 /28,801,000 — <71%>30,000,000¢ = A1,199 30,000 28,801

5. Al A ANA 594,618 1,449,413 2,044,031

S EINRA 595,311 43,494 638,805

IDIRE EAR=RAESY: 57,561 57,561

7h YR % (1,385m) 420-02 |21,106,0009 x 14 = 21,106 21,106

W ¥l 17 (1,608.5m’) 420-02 |15,823,0009 x 14 = 15,823 15,823

o) G917 AR AE(2,000m) 420-02 [20,632,0009 x 12 = 20,632 20,632

2) YRR 7;F A} 537,750 537,750

W8 - FoluzF

W% = sHA el A A -

5/10




1BE AZAE QT A

7187 AESEAA R aSA 9% GEEED)
4 )
goivy S0 | 55| AT NEERE 2 4% AU 2AFAAE | ARANS | B A
7h SAEAd A 1% A (1,439.8m) A28 E A (2,696.6m) | 420—03 537,750,000 X 14 = 537,750 537,750
v}, 7 e A693 38,400 37,707
1) Al4dn] ~693 38,400 37,707
7H AFE (A TS AE S ES) | 420-03 1,707,0009 — <71%>2,400,0009 = £693 2,400 1,707
6. 9|23 NA A40,225 2,278,020 2,237,795
7}, A ~21,315 1,503,020 1,481,705
1) A]AH] A21,315 1,439,220 1,417,905
7hH G ez 420-03 |45,473,0009 — <71%>46,920,0009 = A1,447 46,920 45,473
) Fska= 420-03 |26,671,0009 — <71%>35,700,0009 = 79,029 35,700 26,671
o $e98dx 420-03 1,000,000 — <7]1%>10,200,000¢ = 29,200 10,200 1,000
2h) = nkEAk 420-03 [187,061,000¢ — <71%>188,700,000¢ = A1,639 188,700 187,061
(BBt A18,910 461,600 442,690
1) A AN 420-02 |20,945,0009 — <71%>21,500,0009 = A555 21,500 20,945
2) A]Adn] A18,355 437,000 418,645
7H G4 &SA % 420-03 |57,963,0009 — <714>74,750,000¢9 = N16,787 74,750 57,963
) st ekEAkaL 420-03 |38,682,0009 — <71%>40,250,0009 = A1,568 40,250 38,682
7. AZNAAANA 24,054 545,589 541,535
7F =3 A w A A4,054 20,880 16,826
1) A4 A4,054 20,880 16,826
H 5% 420-03 |16,826,0009 — <71%>20,880,0009 = A4,054 20,880 16,826
8. A AMA 217,306 472,575 455,269
7}, AN A A17,306 472,575 455,269
1) A]Adn] A17,306 446,025 428,719
7H d9sdx A17,306 25,665 8,359
(1) W= (&=9) 420-03 8,359,000 — <71%>13,590,0009= 75,231 13,590 8,359
(2) BFE (52 9) 420-03 |09 — <71%>12,075,0009 = A12,075 12,075
9. AAFRSA (AF) AT4,716 637,176 562,460
7}, vle RS A6,815 41,800 34,985
1) A]Adn] 16,815 41,800 34,985
7hH LE= 620—11 |34,985,0009 — <71%>41,800,0009= ~6,815 41,800 34,985
L}, "k N5,588 123,530 117,942
1) A1AH] 5,588 123,530 117,942

W8 - FoluzF

28 - AN - FEARAL - SFaAHBAAA
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1BE AZAE QT A

ABEF X Sk w5 A 9% (o] A Q)
= o i=]
P o Ariugel 2 A% Az 2AFANE | ARelE | @)
7H £E=ASH) 620-11 |50,562,0009 - <7]7%>56,150,0009 = A5,588 56,150 50,562
o} 91225 A A15,679 185,430 169,751
1) A An) 15,679 185,430 169,751
7hH &8F 620—11 |169,751,0009 — <7174>185,430,000¢ = A15,679 185,430 169,751
CINERE IR P RE S A46,634 286,416 239,782
1) A A 46,634 286,416 239,782
hH £E5F 620—-11 [239,782,0009 — <71%4>286,416,000¢ = A46,634 286,416 239,782
10. AN AHR) A11,271 104,580 93,309
7}, A A A11,271 104,580 93,309
1) A]An)] A11,271 104,580 93,309
7hH 5= 620—-11 [93,309,0009 — <71%>104,580,000¢ = A11,271 104,580 93,309
ok 3,235,610 8,107,000 11,342,610
TSP Au 3,243,990 3,176,172 6,420,162
R £8,810 153,446 144,636
ZEAALEZEAT 28,810 153,446 144,636
1. FFHAANREE AT20 6,398 5,678
b B A G S 250-04 |720,0009 — <7]%>1,440,0009= AT20 1,440 720
2. 71 ERAAT Q) A8,090 99,000 90,910
7k BRI (gl an) 410-01 |90,910,0009 — <714>99,000,000 4= 28,090 99,000 90,910
B A | X] A] 2] A47,200 2,702,815 2,655,615
sHAY =) A E &g 47,200 2,070,015 2,022,815
1. B Ax Y A47,200 1,985,315 1,938,115
7F AW AZFAA DA X 420-03 |195,000,0009 — <7174>234,000,000¢ = 239,000 234,000 195,000
U, Z8ku A9l ] A5,200 920,000 914,800
1) U8t 430-01 |474,800,0009 — <7174>480,000,000¢ = ~5,200 480,000 474,800
o AAH AR 3,000 554,629 551,629
1) 258w 620—03 |394,887,0009 — <714>397,887,000¢ = 3,000 397,887 394,887
Rk 3,300,000 39,670 3,339,670
BTA o = Rige) 3,300,000 2,870 3,302,870
1. 2SI PAI R LA g 3,300,000 2,570 3,302,570
7h SR A ST A oAb Rk A 300,000 300,000
1) AP AELE Y 330-07 |50,000,000¢ x53]= 250,000 250,000
WHYN - ASAYAY - Y - n5FH A
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71389 AESHEHAA G w52 &5 GEEED)
2] A [e)
goivy S0 | 55| AT Argupel 2 A% AU 2AFAAN | AR | R A
2) TR A=A = 20,000 20,000
7H A" thr; 2] o 7| vk 8- A} 2 A 210-13 |15,000,0009 x 12 = 15,000 15,000
W) THEFA 2 210-01 |10,000€ X 5007H= 5,000 5,000
3) BSHHEFAT 30,000 30,000
7H AFEE 210-01 |50,000€1 X 1007]= 5,000 5,000
) 9 EF 210-01 [50,000€ X 1007}= 5,000 5,000
th) 2}EFQl 2n) 210-07 1,200,0009 x 29 x 33]= 7,200 7,200
b)) w7 210-01 |50,0009 X100 x 13]= 5,000 5,000
nh) k7)ol =7 n] 210-15 30,0009l x 1307 x 28] = 7,800 7,800
U A 5N EETw-Y 380,000 380,000
D fvissauidAd 20,000 20,000
7h "1 620-03 10,000,000 x 27} 7] ¢ = 20,000 20,000
2) sExg g AT A 620-03 |3,200,0009 X 253.= 80,000 80,000
3) s ASAH A 620—03 [14,000,0009 x51= 70,000 70,000
4) otz gAY 110,000 110,000
7H AP 258t u A 620-03 |27,500,0009 X 431.= 110,000 110,000
5 FHEHIATY 100,000 100,000
7 w710 A el e A 9 10,000 10,000
(1) =5stw 620—03 |500,0009 X108 x13]= 5,000 5,000
(2) s 620—03 [500,0009 x10€ x13]= 5,000 5,000
W) nSuSdgdszg g3 70,000 70,000
(1) A3 En] 210-15 20,0009 x50 X 508] = 50,000 50,000
(2) A=H 210—11 |20,0009 X 20% X 503] = 20,000 20,000
th) mhe S A e A 24 3,500 3,500
(1) AN AESS 210—06 [60,0009 X154 x33]= 2,700 2,700
(2) AN A Q) =2} 210—07 |200,0009 X 14 x43]= 800 800
Zh) wA7Fol 11w A E Y 16,500 16,500
(1) gasegr ezt 210-07 |1,800,000¢ x 23] = 3,600 3,600
(2) 9aH5E+H 210-01 |48,3009 X20F x 13]= 966 966
(3) ¥HEAFEIGA TS 210-06 |242,0009 x 24 x 18] = 484 484
(4) S5 210-01 |1,0009 x5070= 50 50
(5) AFAI} AT I AANTG 210-06 | 100,0009 X 2A17kx 278 = 5,400 5,400
T - WS5UY - wSPH AN - B S5FY - wS5FH A
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r o
o
of

AU S = A o FAAE | 7] AN 3t A
(6) A3 FLd 210-01 |100,000¢ x103]= 1,000 1,000
(7) GG A u > 210-01 |100,0009) x 5083 x 18] = 5,000 5,000
o AR S A= FERESY 660,000 660,000
1) AnSAAYgELEZRNE 330-07 560,000,000 x 17}7] 2= 560,000 560,000
2) WHRFIE 7 620—10 |50,000,000€ x 27} = 100,000 100,000
2 EEESuSS-Y 360,000 360,000
1) TESWo i u gz =z =) 200,000 200,000
7D T2 WL EY 210—-13 |35,0009 X 37 X 3583] = 37,590 37,590
W) 2 st wA] 162,410 162,410
1) 58w 620—03 (159,400 x905™ x 13]= 144,257 144,257
(2) st (&) 620—03 |117,6109 x50 x 23] = 11,761 11,761
(3) (A1) 620—10 |75,2009 %1794 x53]= 6,392 6,392
2) Zrol7=ICT S (SW) 330-07 [160,000,0009 x 17} 7)1 &= 160,000 160,000
vl GBS st w A 50,000 50,000
1) IB2Ygsux 4 330-07 [50,000,0009 x 1747 #= 50,000 50,000
v FAEATI XESI R ALy 250,000 250,000
1) AXE=E538 /8] A 5 330—07 |250,000,000¢ x 1707) = 250,000 250,000
A}, %] el ol A %) 2 7} 3} 1,070,000 1,070,000
1) ER0EA LA 7 }5/\3 330-07 1,070,000,0009 x 17}7] 2= 1,070,000 1,070,000
of, A A A A QA F 202,000 202,000
1) =tolol <l A oFA 330-07 202,000,000 x 17}7] 2= 202,000 202,000
A}, MOU A A = 373} w5+ 28,000 28,000
1) 28 E3uyH 330-07 |28,000,000¢ x 17)7) &= 28,000 28,000
28,380 4,930,828 4,922,448
239 78,380 926,954 918,574
7)1 289 28,380 926,954 918,574
7132973 26,000 264,872 258,872
7 3E L HA A £~6,000 85,142 79,142
1) A71 8+ 210-02 54,000,0009 — <714 >60,000,000¢ = 26,000 60,000 54,000
2. G AP T&AE LY 72,380 187,169 184,789
7} 713G H] 72,380 187,169 184,789
1) 71387 72,380 56,530 54,150
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718 - AR SR AR T g 057 9 (k9] - A9
2] 2 =2 Al H - 1= g
H o) B H (= o T A o o= AR o 2z}==7 o AF 7] A of| AL H st A
i I R A bl el = A= Sk 157 17 o A |
7H G212 A 71| 210-04 38,720,000 — <71%>41,100,000¢ = ~2,380 41,100 38,720
W - WHYRE - VI - 7RG - 7| A7 E ]
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